4 Parts

Replaces Toro Commercial Walk Behind

Pmﬁtﬁ Walk-Behind Mower with 91cm Deck - Models 30031,

" 30032, 30070, 30071

91in Deck Parts

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




Replaces Toro Commercial Walk Behind

R R Parts
P,oﬁc“ Walk-Behind Mower with 91cm Deck - Models 30031,

30032, 30070, 30071
91in Deck Parts

Item R&R OEM Qty Price Order
No Part No. Part No. Description Req Each Quantity
Belts
20 R110-5049 110-5049 Belt- V - Pump Drive 1 28.40
Tech Note: Fits Models 30032 / 30071 Only:
20 R105-0886 105-0886 Belt - Drive - Pto 1 74.15
20 R105-5668 105-5668 Belt - V - Transmission 1 29.95
Tech Note: Fits Models 30032 / 30071 Only:
20 R110-6953 110-6953 Belt-V 1 39.40
20 R110-5004 110-5004 Belt -V Banded - Wheel 2 7895
Drive
Tech Note: Fits Models 30032 / 30071 Only:
Blades
30 R105-7779-03 105-7779-03 Mower Blade - 18 in Recycler 2 16.95
30 RRB3065-1802 105-7781-03, Mower Blade - High-Lift 18 x 5 12.95

1056-7781-03

2.5in x 5/8 Mt Hole

Detail Description: R&R Products rotary blades are manufactured in the USA with superior allow
steel and hardened for extended life. Lifetime guaranteed against defects in material and

workmanship.:

105-7781-03, Mower Blade - 18 in High-
31 R105-7781-03 o194 Flo 2 11.25
Tires
1-603299, .
40 R68-2730 632730 Wheel - Anti Scalp 2 7.85
41 R110-5024 110-5024 Wheel and Tire Assy - 9 x 2 53.15

3.50-4 Foam Filled

Other Parts Available

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




R Parts
P,oﬁc“ Walk-Behind Mower with 91cm Deck - Models 30031,

Replaces Toro Commercial Walk Behind

30032, 30070, 30071
91in Deck Parts

Item R&R OEM Qty Price Order
No Part No. Part No. Description Req Each Quantity
70 R108-6696 108-6696 Housing-Spindle 2 125.10
71 R110-0727 110-0727 Spacer- Bearing 2 11.25
72 R116-0720 116-0720 E::l””g - Ball - Special Triple 9.30

Tech Note: Fits Models 30032 / 30071 Only:
73 R106-0873 106-0873 Shield - Bearing 2 11.25
74 R110-0726 110-0726 Shaft - 7 Inch Spindle 2 106.95
75 R110-0725 110-0725 Shaft - 8 9/16 Inch Spindle 2 71.25
01-158-0600,
01-188-1216,
76 R3219-7 215-46, Nut- 3/4-16 GR8 Hex 2 2.55
22-18-BJC,
3219-7
77 R7-4150 7-4150 Washer 2 1.95
78 R103-0865 103-0865 Washer - Blade Bolt HD 2 4.80
79 R51-4060 51-4060 Bolt - Blade 2 4.80
80 R110-6903-03 110-6903-03 Front LH Baffle 1 43.15
81 R110-0754-01 110-0754-01 Baffle - Discharge 1 20.50
82 R110-0792-01 110-0792-01 Deflector 1 45.35
83 R110-0793-03 110-0793-03 Strap - Discharge 1 15.65
01-157-0440,
84 R3231-4 01-173-0612, Bolt - Carriage 3/8-16 x 1-1/2 4 1.30
3231-4
104-8301,
104-9301, Locknut - 3/8-16 Nylon
85 R104-8301 109-6658. Flanged 4 0.88
133-7570

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




— Replaces Toro Commercial Walk Behind

R R Parts
P,oﬁcfg Walk-Behind Mower with 91cm Deck - Models 30031,

,’ 30032, 30070, 30071
91in Deck Parts

Item R&R OEM Qty Price Order
No Part No. Part No. Description Req Each Quantity

Tech Note: Fits Models 30032 / 30071 Only:

86 R105-3159-01 105-3159-01 Caster Fork Assy 2 80.25
87 R94-1291 94-1291 Bushing - Flanged 4 6.65
88 R3-6781 3-6781 Washer - Thrust - Castor 8 1.95
Wheel

89 R283-71 283-71 Pin - Lynch Heavy Duty 2 2.45

21-6010,

302-11,

302-37,

302-47,

302-5,

302-57,
90 R302-5 302-58, Fitting - Grease 2 0.30

302-6,

31-0300,

32-9660,

60-0800,

62-3880,

92-4181
91 R1-513810 1-513810 Flanged Bushing 4 0.92
92 R112-7066 112-7066 Bearing - Roller 2 12.55
93 R93-7818 93-7818 Decal - Blade Torque 1 5.80
94 R106-5517 106-5517 Decal - Warning Hot Surface 1 17.92
97 R121-1779-03 121-1779-03 Baffle 1 50.55

Tech Note: Fits Models 30032 / 30071 Only:
98 R86-4770 86-4770 Idler Lever Assy 1 52.15
Tech Note: Fits Models 30032 / 30071 Only:

256-155, .

99 R256-155 265-155 Bushing - Flanged 2 3.65

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




— Replaces Toro Commercial Walk Behind

R R Parts
P,oﬁt" Walk-Behind Mower with 91cm Deck - Models 30031,

,’ 30032, 30070, 30071
91in Deck Parts

Item R&R OEM Qty Price Order
No Part No. Part No. Description Req Each Quantity

Tech Note: Fits Models 30032 / 30071 Only:

Idler Pulley - Flat 4 in Dia
100 R93-1622 93-1622 with 375 Bore 1 24.15

Tech Note: Fits Models 30032 / 30071 Only:

01-150-0190,
01-150-1540,
01-178-0614,
107229,
20-50-AD,
20-50-AGD,
30-9430,
32105-4,
3224-5,
323-9,
513363,
513364,
5377,
908037P

101 R323-9 Bolt - Hex HD 3/8-16 x 1-3/4 1 0.96

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




— Replaces Toro Commercial Walk Behind

R R Parts
P,oﬁcfg Walk-Behind Mower with 91cm Deck - Models 30031,

,’ 30032, 30070, 30071
91in Deck Parts

Item R&R OEM Qty Price Order
No Part No. Part No. Description Req Each Quantity

01-166-0100,
01-166-0120,
01-166-0270,
01-166-0500,
01-166-0600,
01-166-0620,
132-4593,
2356-3,
237-12,
24-10-AD,
24-11-AD,
24-11-BD,
102 R453011 24-12-AD, Washer - Flat 3/8 SAE Y/Zinc 1 0.12
24-12-BD,
30-9310,
32-8190,
3256-24,
3256-3,
3256-36,
3256-4,
453011,
47-9950,
48-9220,
513458,
7-0052

32127-25,
32128-36,
3290-357,
3296-17,
3296-22,
3296-39,
915663P,
99-7443

103 R3296-39 Locknut - 3/8-16 Nylon 2 1.50

104 R104-6377 104-6377 Idler Tube 1 13.05

1-804256,
3290-357,
3296-29,
915662P

105 R3296-29 Locknut - 5/16-18 ESNA 1 3.10

106 R98-5967 98-5967 Spacer-Wheel 1 10.35

107 R322-50 322-50 Bolt- Hx HD 5/16-18 x 7 1/2 1 3.75

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




— Replaces Toro Commercial Walk Behind

R R Parts
P,oﬁcfg Walk-Behind Mower with 91cm Deck - Models 30031,

,’ 30032, 30070, 30071
91in Deck Parts

Item R&R OEM Qty Price Order
No Part No. Part No. Description Req Each Quantity
108 R108-4052 108-4052 Spring - Torsion 1 14.60

Tech Note: Fits Models 30032 / 30071 Only:

01-150-1450,
01-158-1260,
109 R325-19 01-178-0840, Bolt - Hex HD 1/2-13 x5 2 2.45
20-99-AGD,
325-19
110 R32153-5 32153-5 Locknut - 1/2-13 2 0.79
119-4150, .
111 R52-2860 522860 Washer - Bed Bar Pivot 3 0.70
01-178-0630,
112 R323-42 323-42 Bolt - Hx HD 3/8-16 x 3 3/4 1 3.40
113 R105-8443 105-8443 Spring - Extension 1 22.85

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




